Main steps

PROGRAM - Calculate
vehicle charging costs
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journey stage costs and
total cost

Calculate and store the
cost of each stage of the
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Get journey details

Refinement of ‘Get journey details’
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Get number of
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(startMiles)

Refinement of ‘Calculate and store the cost of each stage of the journey’
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#Calculate vehicle charging costs
startMiles = @

no0fStations = @

currentMiles = @

kwRating = @

milesTravelled = [8]*1@
journeyStage = [8]%18
totalJourneyCost = 9.9
totalMiles = @

#Get journey details
startMiles = int{input("Enter mileage at start of journsy: "))

#Get valid number of stations
no0fStations = int{input("How many charging stations are on your journey: "))
= while noQfStations < & or noOfStations > 1@:
no0fStations = int(input{"Invalid - can only record 1@ stations max. Re-esnter: ™))

#Calculate and store code of each stage of journey

= for index in range(noOfStations):
#Get current mileage at each station
currentMiles = int(input(“Enter miles at station " + str{index + 1) + ": "))
#Get valid KW for each station
kwRating = int(input("Enter KW Rating for each station 7, 22 or 58: "))

- while kwRating != 7 and kwRating !=22 and kwRating !=50:

kwRating = int(input{"Invalid - Please Re-enter 7, 22 or 5@: "))

#5et price per mile depending on kwRating
v if kwRating ==7:
pricePerMile = @
- elif kwRating == 22:
pricePerMile = @.885
s else:
pricePerMile = 8.61

milesTravelled[index] = currentMiles - startMiles
startMiles = currentMiles
journeyStage[index] = pricePerMile * milesTravelled[index]

#Display total miles, journey cost
= for counter in range(ncOfStations):
print{"Journey Stage Cost "+ str{counter +1)+":

+ str(journeyStage[counter]))

#Running total for total journey cost and total miles
totallourneyCost +=journeyStage[counter]
totalJourneyCost = round(totalJourneyCost,2)
totalMiles = totalMiles + milesTravelled[counter]

#Display journey details
print{“Total Journey Cost: " + str(totalJourneyCost))
print ("Total Miles Travelled: " + str(totalMiles))




Refinement of ‘Display total miles, journey stage costs and total cost’

Display total miles,
journey stage costs and

total cost
Loop for each Display Display totalMiles
charging station totallourneyCost with message

rounded to two

decimal places
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journeyStage) milesTravelled)




